
SECTION 2.3   ALGEBA 2   THOMPSON 

Linear Functions and Slope-Intercept Form 

 

 

 

1)  

     𝑚 =
9−3

5−8
=

6

−3
= −2 

 

2) 

     𝑚 =
2+7

−9−7
=

9

−16
 

Type equation here. 

3) 

          (x,y) 

 

   y = 
2

7
𝑥 + 6 

4) 

      y = 
3

5
𝑥 + 2 

 

5) 

 

 

     0 

          (0,-7) 



6)        

 

 Slope intercept form:  y = -7  

 What is the slope of the line is 0 

 The y-intercept of the line is (0,-7) 

 

 

 

7)  

   + 0 

Pick line graph 

Plot the y-intercept  0 

Then shift down 4 right 1 

 

 

 

8)    

 

Pick line graph 

Plot the y-intercept  1 

Then shift up 2 right 1 

 

 

 



9)  

 

 Pick line graph 

 Plot the y-intercept  1 

 Then shift down 6 right 1 

 

 

 

 

10) 

 

Pick line graph 

Plot the y-intercept  -2 

Then shift down 5 right 1 

 

 

 

 

 

11)  

 

 

 

        Slope is 0 for a horizontal line 

        y-intercept in ordered pair (0,-3) 



12) 

  From y-intercept of 2: down 1 and right 3 

 

        Slope is −
1

3
 from point on the left, 

          you shift down 2 and right 6 

          y-intercept in ordered pair (0,2) 

 

 

 

 

 

 

13) 

      𝑚 =
  2−2

−9−6
=

   0

−15
= 0  

 

14)  

 

     y = 
5

6
𝑥 + 7 

 

15)  

    𝑚 =
  7−4

6−3
=

   3

3
= 1 

 



16)  

    𝑚 =
  9+4

6−10
=

   13

−4
= −

   13

4
 

 

17)  

    𝑚 =
  7−7

2−7
=

   0

−5
= 0 

 

19) 

 

Pick line graph 

Plot the y-intercept  -4 

Then shift down 3 right 1 

 

 

 

20) 

 Slope is 0 for a horizontal line    

 

    

 

 

 

 

 



21)  

 

 

 

   Down1 

   Right 2 

 

 

 

 

 

 

22) 

 

 

 

 

 

 

 

 

 

 



23)  

 

 

 

 

 

 

 

 

24)  

 

     y = 
5

6
𝑥 + 7 

 

25)  

  (x,y) 

 

 𝑚 =
 0−7

4+3
=

  −7

7
= −1  

   

   

       7 = (-1)(-3) + b 

       7 = 3 + b 

       4 = b   y = - x + 4 

 



26)  

 (x,y)  

 

 𝑚 =
 6−5

12−4
=

  1

 8
  

   

   

       5 = (4)( 
  1

 8
 ) + b 

       5 = 
  1

 2
 + b 

       5 - 
  1

 2
 = b   y = 

  1

 8
 x + 

  9

 2
  

27)  

           (x,y)  

 

 𝑚 =
 1−0

0+6
=

  1

 6
  

   

   

       0 = (-6)( 
  1

 6
) + b 

       0 = -1 + b 

       1 = b   y = 
  1

 6
 x + 1  

28)  

  

                       (x,y)  𝑚 =
 3−4

3−3
=

 −1

 0
= 𝑢𝑛𝑑𝑒𝑓𝑖𝑛𝑒𝑑  

   

   

       

       



29)  

           (x,y)  

 

 𝑚 =
 7−0

0+4
=

  7

 4
  

   

   

       0 = (-4)( 
  7

 4
) + b 

       0 = - 7 + b 

       7 = b   y = 
 7

 4
 x + 7 

 

 

30)  

  

                     (x,y)  𝑚 =
 5−1

4−4
=

 4

 0
= 𝑢𝑛𝑑𝑒𝑓𝑖𝑛𝑒𝑑  

   

   

       

       

 

 

 

 

 

 



PLOTTING EXAMPLE 

 

 

       Plot y-intercept on the y-axis first 

       From the point shift up 3 and right 1 

       using the slope 

       If slope is positive shift up 

       If slope is negative shift down 

       Always shift to the right after 


